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B. A. 3" Semester |
Examination — November, 2014
ECONOMICS (MACRO ECONOMICS-I)

Time : Three Hours»] : { Maximum Marks :80

Before answering the questions, "cyandidate\s'should'ensure_ that they
have been supplied the correg:f and complete question paper. No
complaint in this regard, will be entertained after examination.
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Note: Atteinpt five questions in all, selecting one question
. from each Unit. Questlon No.1is compulsory A]l .
questlons carry equal marks. 2
Wlwmlaﬁmﬁhwmzkw

A ¥

92116 -7850-(P-4) (Q-9) (14) - " P.T.O.




1. Explain the followirig in brief: . 2x8=16
frrfoRea @ He § aarer Hife -
(a) Domestic territory.
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(b) Two functions of Central Statistical Orgamzatmn
S iR WTewT & g Rt | '
- (c) Psychological law of consumption. .
- SUERT BT FAase )
(d) Pump Priming. '
. Y |
- (e) Netexport function.
35 fatg wo )
() Government Tax Function.
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~ (g) Outside asset. '
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h) Expansionary demand shocks.
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2. Explain the difference between: ~ 8x2=16
fr=fafed & amR SIS - o
(a) Final goods and intermediate goods.
- ofvem ey SR wegedt avg |
(b) Market price GDP and basic price GDP. o
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3. Explain income method and expenditure method of
measuring national income. ~ 16 -

W@ﬁumﬁmﬁaﬁmﬁr@raﬁ?mﬁfﬁm
ol sy ’

UNIT-1I
sms‘ -

4. Explain the various determmants of propensity to
 consume. " 16
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- 8. Define marginal efﬁmency of capltal Explam its
* determinants. - 16
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6. What is fiscal pohcy ? Explam its ob]echves and various
© instruments. 16
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7. Given the following Keynesian model : 16

C =50 +0.8 Yd where Yd = Y-Tax -
Investment =¥ 100 crore -~
- Govt. Expenditure = T 200 crore
Export =¥ 250 crore -
Import function = % 20 + 0.25 Yd
Tax =0.3Y '
Where investment, govt. Expend1ture & Exports are
held constant. :
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Find (i) eqxilibriﬁm of GDP (ii) Foreign Trade
multiplier (iii) Budget Surplus. -
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C=50+08Yd & Yd = Y—Tax
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8. How does a change in the price level affect the
aggregate spending in the shortrun ?" , 16
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9. When does the economy achieve long run equilibrium ?
. Explain the impact of AD curve shift and AS: curve
shift on equilibrium GDP and price level. - - 16
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